Pure Mathematics

Answers - Polynomials and Factor Theorem

Exercise A
1 a x**+5x¢+3 b xX*+6x+1 ¢ x*+x-9
d x?+4x—-2 e x*-3x+7 f x*+4x+5
g P~ +Z A *=2+6 1 P—3-2
§ *+2x+8
2 a 62+3x+2 b 4x*4+x-95
C Ix*+2x-2 d Ix*+4x+8
e 2x*-2x-3 f 2x2-3x—-4
g —3x?+5x—7 h -2x2-3x+5
i —5x*+3x+5 ] —4&2+2-1
3a x+3x-4x+1 b x*+6x*5x—4
c X3 +2x2-3x-5 d 3+ 5x2-3x+2
e —3x'+3x*—-4x-7
f ' +2¢x°-8*+2x~-5
g 6x'—x3-2x2—-5x-2
h -S5x'+2¢'+4x*-3x+7
i 25 -3c'+2x*-8x?+4x+6
) =xS+xt=-B+2t-2x+1
Exercise B
1ax2-2x+5 ' b 2x?—6x+1
c —3x2-12x+2
2 a x+4x+12 b 2x*—x+5
¢ —-3x?+5x+10
3m =5 b 2xi+7 c -3x2-4
4 a 8 b -7 c -12
7 (x+4)(5x® - 20x + 7)
B Ix*+6x+4
9 xi+x+1
10 x* = 2x*+ 4x -8

Exercise C

2 (x—1)x+3)x+4)
3 [x+1Mx+ 7)x—3)
4 (x—-5)ix—-4x+2)
5§ (x—-2Z}2x - 1)ix + 4)

& a (x+1)x—3)x—6)
h {I—_E}{I-I- 1:“:1""2}
Cc (x—5kx+ 3x-—2)
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7a (x-1Dx+32x+1 b x-3)x-502c-1)
c x+Dix+2)3x-1 d x+22x-1)3x+1)
e (x—2)2x — SH2x + 3)

8 2

9 —-1a

10 p=3,gq=7
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